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Note : First 15 minutes are allotted for the candidates to read the question paper.
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[nstructions :
(1)  All questions are compulsory.

(i) Question Numbers 1 to 10 are Multiple Choice Type Questions, for which only correct
answer should be written in your answer book. Question Numbers 11 to 18 are Very
Short-Answer Type Questions, which are to be answered in about 50 words each,
Question Numbers 19 to 24 are Short-Answer Type Questions, which are to be
answered in about 150 words each and Question Numbers 25 to 27 are Long-Answer
Type Questions, which are to be answered in 3bout 300 words each,

(iii) Marks allotted for each question are given against them.
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(A) MC,=TFC, -TFC,_,
B) MC,=AC,-AC,
(©) Mcn=Avcn—AV{;;-_l

(D) MC,=TC -T1C,_,
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(A) MPC +MPS =0

| (B) * MPC + MPS = |

(© (MPC+MPS)> |
(D) (MPC +MPS) < |
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(Multiple cholee Type Quest!ons)
Write only the correct answer of the folloWing Questiong i your answer-books :

Who wrote the famous book “Wealt!gﬂf Nationg” 9 4

N
(A) Adam Smith R

(B) Marshall
(C) Robbins
(D) Mehta
N

2. Which of the following formula is correct for calculating marginal cost ? 1
(A) MC, =TFC -TFC _,
(B) MC,=AC -AC,_,
(C) MC, =AVC -AVC_ _,

D) MC,=TC,-1C,_,

3. Average fixed cost curve o
en

(A) is a straight line parallel to X-@tis-

I
(B) is straight line parallel to Y-axis.

(C) falls, as more units are produced.

(D) rises, as more units are produced-
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(A) Credit creation
(B) Credit control

(C) Government's Bank

(D) Determination of monetary policy

S.  The rate at which commercial banks borrow loans from

Which of the following is not a function of the Res€TVE Bank of India 7

the Reserve Bank of India to

meet their long-term requirements is knownas ____

(A) Margin requirement
(B) Bank rate
(C) Reporate

{D) Reverse repo rate

6. ldentify which of the following equaﬁns is true :

(A) MPC +MPS =0 o
(B) MPC +MPS =1 :}
(C) (MPC +MPS)> |
(D) (MPC + MPS) < |

7 Borrowing in government budget is igtlal to

-,
%

(A) Revenue deficit o
(B) Fiscal deficit r
(C) Primary deficit
(D) Deficit in taxes
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8.  The non-tax revenue in the following 8
(A) Export duty
(B) Import duty
(C) Dividends

(D) Excise duty

9. Identify, which of the following is ot 8 source of demand for foreign exchange for

Indian economy ? .
(A) Import of goods and services
(B) Remittances by foreigners living in India to their families abroad.

(C) Indian tourists visiting foreign countries

(D) Loans from Rest Of the World (ROW)

10. Who determines the exchange rate between the currencies of two countries ?
(A) World Bank
(B) Demand and Supply of Currencies
(C) International Monetary Fund (IMF)

(D) Central Bank
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(Very Short-Answer Type Questions)
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Clarify the meaning of Micro Economics, {
)
ting the Elasticity of Demand.
Write any three factors affecting as Imtj,f:
J
1
~

What is ‘Production Function’ ?

e o TR o A AT R 7

£, b

What is the difference between Stock and Flo;vﬂf_:?

T g R i i faftrdt & Ry )

Write names of three methods of estimating Na}ional Income.

B
|

ﬁ-ﬁﬁmmﬁmmW |

[ o

State three limitations of Barter $YStem of Exchang®:

329(0) [80of12]
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17.
17. Define a Central Bank. 3
18, afX vares ama ¢ 1,000 g ¥, IR T00FTI3 R A sfvge g g AR 3
18. If disposable income is T 1,000 croré; consumption leve] is ¥ 700 crores, then find the
Average Propensity to Consume. 3
(aﬁ-:-:aﬂu TH)
(Short-Anﬁ'er Type Questions)
)
19. =g a4 oRad7 & 39 Teg A Al 32 wfa Bt @ 7 Y ) wEra @ s
ﬁ [ 6
19. How the demand of a commodity is éﬁected by changes in the price of the commodity ?
Explain with the help of diagram. 6
20, ITIVRI ST § ST 1 AT & 7 T 3 g 1 warn & T wae
b | 1+5
?0. What do you understand by Consurfia;;"s ¢quilibrium 9 Show Consumer’s equilibrium
. 3
with the help of Indifference Curve i‘nalyms. 145
P
21, e WA 1 31 feafe | o 1 T S S Sty e | 303

21, Write the meaning of Production Cost. Explain A"'efage cost with the help of a diagram. 3 +3
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22.

& a7 e HifT | 6

22. Explain the concept of Net National Product 8t Market Price and Net National Prodyct
at Factor cost. Clarify the differente between them- 8
23. é@%mmwaﬁ@%amﬁ IR AT | 1 BT TR GFR A Iw@f Ry 7 g4 1

23. Explain the difference between l;iﬂ_j'anced pudget and unbalanced budget. Is balanced
budget an achievement of the goverpment ? 41
24. T'a'“ﬂ‘*ﬁmqﬁ@ﬁwﬁmwm%? "

24. What do you understand by Current Account and Capital Account of Balance of

235.

25.

Payments ? 6

(et )

{Long-Answer Type Questlons)
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. [
Explain the Law of Variab|e Proportions with the help of total product and marginal
D f
product curves. ns 10
OR
Expiain the law of suppl}’ Wi{]i thﬁ hel ¢ uppi}’ schedule and supply curve, 10
poftas
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26. How is the price and output of 2 commodity determined under perfect competition ?

Explain. 10
OR
Calculate Marginal Propensity to Consume andfAverage Propensity to Consume from
the following data : 10
Income @ 50 100 150
Consumption () 60 100 120
vy syeferaen i sty Wi At @ 7 7@ FifE ok qur e | 10

Y4l
srAfre TR @1 31 fAfay | ATEES TSR & Jererft ro w1 aviy Fif | .
27, What is excess demand in an economy 7 Explain any measures to control it. 10

OR

Write the meaning of Involuntary Unemployment. Mention the factors responsible for

Involuntary Unemployment.
2+8
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